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u=X = JTx

= V = - =(1 - x)3

I = ( x (1-x)
*
dx = [ - E (1 - x) ) + (-(1 -x)+ ax

= - -x(1-x) - Ez(1-x)* + c

u = 1-X

Lu

I = (x(1 -x)" dx

= ( - > (1-uz)(ut) du

=

- 2[ju- 5u] + <

=- E(1-x( + =( -x)* + c



Scanned with CamScanner

- -(1-x( + =(-x)
*

+ c = ( - zx(1-x( - 7-(1-x)
*

+ c)
= (3 + 3X)(1-x) + =(1 - x)

*2

+ c
,
-

=
- -(1 -x) + = (1- x)" + c -

c

= C, - c = d = constant
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x
- E or 1X2

from (ii) s x8

=.

Hence for8 > 0

-8(X1 or
X32 #
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Lirh + Gir" = 900

rht
V = nrh

= Tr/
= 450r - Tr

= 450 - 3r = -Gir < 0 for so

V is a max

=or in

=
: r : h

1 : 2
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f(x) = sec2X

f(x) = 2 sec2xtan 2x

f"(x) = 4 Secaxtan2x + 4 see2X

f(0) = 1 f(0) = 0 +"(0) = 4

:. f(x) = 1 + 2x +
...
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10
. 0

Sec2xdx = 100 1 + 2xdx

= [x+y

= 0 . 02001

From G . C. sectx dx = 0 . 02001

Both (ii) & (iii) have the same answer up to 5 d.p
.

Since Maclaurin Series expansion is about X= 0 &

the values of X used here are 0
,

0. 02
,
which are close to

zero
, the approximation is good

.

g(x) is undefineda X = 0.
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-B =52 = 1 + 41

lip : r= b + x(59) where XEIR

lac : v = a + <(4 + q) where JER

=> b + 5xa = g(1+ 2) + 44h

X= x=

X = b+
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[D = 0 + ob

= 3a-3b

Mox : v = p(b+ ) where BEIR

lcx : v= 2a + 4b + q(3a - 3b) where EIR

2 + 3 % =

304 - 30 = B

y = (b + =)

OX : OY

3 : S
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Population as all the clubs from Divison
1

.

He can label the clubs randomly 1 to 100 and

the select one out of every 5 clubs.

This is a cost and time saving method and also ensure

the selection is unbiased.
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22
(

. 44 c . 2 cz - 2 C = 7 . 24x108 ways
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① Probability of each randomly chosen mug is faulty remains at

0 . 08 throughout.

② The mugs are either faulty or not faulty.

F - B(50
,

0 .08)

p(f >7) = 0 . 102

Let X denotes # of days out of 5 days with more than 7

faulty mugs X-B (5 ,
0 . 10187)

P(X = 2) = 0 .991
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Let S denotes # of faulty saucers

Su B(10 , p)

p(s =2) = 45p (1-p)

p)mugfaulty ,
sancer not faulty) (c

, (0 .08) (0 ·92) (1-p)

+ P(mug not faulty ,
sance faulty) =

+ &c
, (p) (1-p) (0

.922 = 0 . 97

+ 10 .92)" (1 - p)
+ P) none faulty)

: p
= 0 . 0689 from G .

C.
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Reg Prob:+

Reg Prob
:7+

+ 5+
1

=
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RegProb : (**** *) 2 + (5x2:

EX520
possible combination : 5X4 (orange bird , yellow bird)

5x4(white horse
,
white rider

5x4 (orange bird ,
white rider)

5X4 (yellow bird ,
white horse)
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C-tail test as he wish to testIf the mean resistance

differs from 7505

Null hypothesis Ho : M = 750

Alternative hypothesis
H,: M + 750

M is the population mean resistance.

Let X denote resistance of a resistor

Y = 756

Under Ho
,

X-N (750 , ig)

From G . C. p-value : 0 . 08968 > 0 . 05

Hence do not reject Ho and conclude there is insufficient

evidence at 5% level of significance that the mean

resistance is not 750.
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The sample size must be large enough ( < 30) so that

Central limit Theorem can be used to approximate the distribution

of sample mean to a normal distributionn.
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G . C.:

Residuals may be positive or negative. Summing them

up will give an erroneous results
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Y
1

30-

25-

20- X

5

I * 3 residual

residual 2 X

X3 residual

X

Gresidual
15-

y = 35- 5X

10-

I40 de 50 55 do C
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Bhani's model . Sum of residual is smaller

(50 ,
18 . 6)

y =
- 0 .3x + 33 . 6

V= = 0 . 985
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y = - 0.3(30) + 33 . 6

= 24 . 6 km/ur

Not reliable
,
out of data range

All her data points lies on her line.
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Let W and B denote mass of white balls and black balls

WrB (110 , 42) B-N(55 , 2)

N
,
+W2 +

. ..
+ Wy -N(440 , 64)

P(w , + . . .
+ Wy > 425) = 0 . 970

W + B - N(165 , 20)

P(161 < v + B <175) = 0 .802
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w
,
+ wz + B

,
+ Bz + By -N(385 , 44)

P(w ,
+ wz + B

,
+ Bz + B< m) = 0 . 27)

m = 380 . 9

~ 381 grams
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B ,
+ Bc + By+ By - N(220 , 16)

0 . 9 (B ,
+ Bc + By+ By) N(198 ,

12 .96)

Let R denote mass of the rods

R
, + Rc + Ry + R4 -N(80 ,

3. 24)

0. 7W - N(77 ,
7 . 84)

=> 0 . 9 (B ,
+ Be + By+ By) + (R , + Rz + Ry + Ry) + 0. +w = N(355 ,

24 . 04)

p(0 . a (B ,
+ Be + By+ By) + (R , + Rz + Ry + Ry) + 0. 7w > 350) = 0 . 846


